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QUESTION 1

An HP switch learns identical valid routes with different protocols. How does the switch choose which route to add to its
IP routing table?

A. It adds the route with the highest administrative distance, or route preference.
B. It adds the route with the highest cost.
C. It adds the route with the lowest cost.
D. It adds the route with the lowest administrative distance, or route preference.

Correct Answer: D

QUESTION 2

Which statement is true concerning spanning tree protocols and HP switches?

A. ProVision switches use non-standard default cost values

B. Comware switches have spanning tree enabled, by default

C. ProVision switches, by default, auto-sense edge ports

D. Comware switches use their serial number as the switch identifier in the bridge 1D

Correct Answer: C

QUESTION 3

Which HP solution delivers automated virtual machine orchestrator, automatic synchronization of network connectivity
information, and visibility to performance of wired and wireless users?

A. Unified Wired-WLAN modules and switches
B. Intelligent Management Center (IMC)

C. Virtual Connect FlexFabric

D. Intelligent Resilient Framework

Correct Answer: B

QUESTION 4

Which statement is true about wireless technologies?
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A. 802.11b/g uses an 802.11a-compatible frequency

B. 802.11a has higher data rates than 802.11g does.

C. 802.11n users MIMO technology to improve throughput
D. 802.11a uses the less crowded 2.4 GHz range

Correct Answer: C

QUESTION 5

A network administrator adds a new VLAN in a campus network, VI.AN 120. The administrator needs to set up a DHCP
scope for this VLAN. The scope will include an IP address for DHCP clients and a default gateway address. An HP
Comware aggregation layer switch acts as a DHCP server for this VLANSs at the access layer. The administrator
configures this on the Comware switch for the new DHCP scope:

dhcp ssrver ip-pool 120
necwork 10.1.12C.0 24
gatzway 10.1.12C.254%
expired 1 day
quit
dhecp =2z2rver forbidéen—-ip 10.1.120.250 10.1.170.254
dhcp ssrver ping packets 2
dhcp ssarver ping timeout T50

Based on this configuration, what else must the administrator configure to make the pool available to DHCP clients that
send requests in VLAN 1207

A. dhcp vlan 120

B. dhcp server ip pool 120vlan 120
C. dhcp enable

D. dhcp server vlan 120

Correct Answer: C
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